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WEEKLY TEST I  
SIMPLIFICATION AND PERCENTAGE EXPLANATION  

 
 
1. What percent of a day is 3 hours? 

a. 
1

12 %
2

  b. 
2

16 %
3

  c. 
2

18 %
3

 d. 
1

22 %
2

   

xU ehspy; 3 kzp Neuj;jpw;fhd rjtPjk; vt;tsT? 

a. 
1

12 %
2

  b. 
2

16 %
3

  c. 
2

18 %
3

 d. 
1

22 %
2

  

Explanation: 
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2. If 
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a

b
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a. 
1

8
   b. 8   c. 

2

7
   d.

9
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Explanation: 
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3. An alloy contains 10 gm copper, 20 gm tin and 20 gm silver. What is the 
percentage of copper in the alloy? 
a. 20%  b. 25%  c. 30%  d. 11% 
xU cNyhf fyitapy; 10 fpuhk; nrk;G 20 fpuhk; nts;sPak; kw;Wk; 20 
fpuhk; nts;sp cs;sJ vdpy; cNyhf fyitapy; cs;s nrk;gpd; 
rjtPjk; vd;d? 
a. 20%  b. 25%  c. 30%  d. 11% 
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Explanation: 

 
Total alloy = 10 + 20 + 20 = 50 grams 

    10
100

50
  = 20% 

 
4. Find A and B in the addition. 12A + 6AB = A09 

a. A = 7, B = 2    b. A = 8, B = 1 

c. A = 6, B = 3    d. A = 5, B = 4 
12A + 6AB = A09 vd;w $l;ly; rkd;ghl;by; A kw;Wk; B d; kjpg;G 
fhz;f. 
a. A = 7, B = 2    b. A = 8, B = 1 
c. A = 6, B = 3    d. A = 5, B = 4 
 
Explanation: 
 

Substitution method 
a) A = 7, B = 2     b) A = 8, B = 1  
   12A + 6AB = A09       12A + 6AB = A09 

 127 + 672 ≠ 709     128 + 681 = 809 
 Option (a) is wrong     Option (b) is right. 

 
 

5. 1x
x

+  = 2 then 
3

3
1x

x
+  

1x
x

+  = 2 vdpy;  3
3

1x
x

+ d; kjpg;G  

a. 8   b. 2  c. 6  d. 4 
 
Explanation: 
 

x3 + 3
3

1 3a a
x
= −

 

23 – 3(2) = 8 – 6 = 2 
 
 

6. There are 50 students in a class. If 14% are absent on a particular day. Find the 
number of students present in the class. 
a. 36   b. 7   c. 43   d. 38 
xU tFg;gpy; 50 khzth;fs; cs;sdu;. xU Fwpg;gpl;l ehspy; 14% tUif 
Gupatpy;iy vdpy; tUif Ghpe;j khzth;fspd; vz;zpf;if fhz;f. 
a. 36  b. 7  c. 43  d. 38   
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Explanation: 
 

 
 

7. Lalitha took a math test and got 35 correct and 10 incorrect answers. 
What was the percentage of correct answers? 
yypjh vd;gth; jhd; vOjpa xU fzpjNjh;tpy; 35 rhpahd gjpy;fSk;> 
10 jtwhd gjpy;fSk; vOjpdhh; vdpy;> mth; mspj;j rhpahd 
gjpy;fspd; rjtPjk; vd;d?  

a. 
4

28 %
7

   b. 
3

71 %
7

  c. 
7

77 %
9

  d. 40% 

Explanation: 
 

Total Questions = 35 + 10 = 45  

    = 
35

100
45
  = 77

7
%

9
 

 

8. The value of 
(6 6 6 6) 6

4 4 4 4 4

+ + + 

+ + + 
 is equal to 

a. 
4

13
   b. 

7

4
   c. 

12

6
   d. 1 

(6 6 6 6) 6

4 4 4 4 4

+ + + 

+ + + 
d; kjpg;G  

a. 
4

13
   b. 

7

4
   c. 

12

6
   d. 1 

Explanation: 
24 / 6

4 4 4 1

4

13

=
+ + +

=
 

 

9. The value of 25 – 5 [2 + 3 {2 – 2 (5 – 3) + 5} – 10] ÷ 4 is  
25 – 5 [2 + 3 {2 – 2 (5 – 3) + 5} – 10] ÷ 4 d; kjpg;G  
a. 4  b. 24.25  c. 23.75  d. 30 
Explanation: 

 
= 25−5[2+3{2−2×2+5}−10]÷4 
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= 25−5[2+3(2−4+5)−10]÷4 
= 25−5[2+3×3−10]÷4 
= 25−5[2+9−10]÷4 
= 25−5(1)÷4 

5
25

4

95
23.75

4

= −

= =

 

 
 

10. When a number is decreased by 25% it becomes 120. Find the number. 
a. 180  b. 170  c. 160  d. 150  
Xh; vz;zpd; kjpg;ig 25% Fiwj;jhy; 120 fpilf;fpwJ vdpy;> me;j vz;izf; 
fhz;f. 

a. 180  b. 170  c. 160  d. 150  

 
Explanation: 
 

25
120

100

120 100

75

160

x
x

x

x
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=  
 

 


